[image: image1.png]M4-8.  Strategy for X = X,
Strategy for ¥ = ¥
Value of game = 6
M4-9. s strategy = A
B's strategy = B,
Value of game = 19
M4-10. X’ strategy:

860 + 36(1 — Q) =420 + 106(1 — Q).
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[image: image2.png]Vs strategy:
S?P +42(1 — P) = 36P + 106(1 — P),

35 22
Value of game = 86 X — + 36 X — = 66.70

57 57
M4-11. 210 +89(1 — Q)= 1160 + 3(1 — Q)
86 95
2= T
86 95
value of game = — X 21 + — X 89
181 181

=56.69




[image: image3.png]M4-14. The game can be reduced to a 2 X 2 game, since X
would never play X; or X, since X stands to lose in every eventual-
ity under those two strategies. Thus, the game is

n n
x| 12 3
X | 4| 12

X's strategy: 120+ 4 (1 — 0) =80 + 12(1 — )
0=231-0=13

Vs strategy: 12P + 8 (1 — P)
P=131-P=23

Value of game = 12 X 273 + 4 X 1/3 =933

M4-15.  A;: Shoe Town does no advertising.

4P +12(1 - P)

Ay: Shoe Town invests $15,000 in advertising.
By: Fancy Foot does nothing.
By: Fancy Foot invests $10.000 in advertisi

g
By: Fancy Foot invests $20.000 in advertising.
a B B B
aAlo [—2]-5
'S 1| -1

This particular problem has a saddle point with strategies 4, and
By and game value of —1.




